sin6 X + cos”6 X = sinxcosx

(sin2 x)*3 + (cos”2 x)*3 = sinxcosx
(sin*2 x+cos”2 x)( sin™4 x - sin?*2 xcos”2 x+cos”4 x) =

SINXCOSX

sin™4 x - sin®2 xcos2 x+cos™4 x= sinXxcosx
sin4 x -3 sin?2 xcos"2 x+cos™4 x+2(sin*2 xcos”2 x)=

SINXCOSX

(sin*2+cos”2)-3 sin*2 xcos”2 x= sinXcosx

1-3 sin*2 xcos”2 x= sinxcosx
sinxcosx=t

3th2+t-1=0

D=1+12=13

t=(-1+-V13)/6
sinxcosx=(-1+-V13)/6
sin2x=(-1+-V13)/3
sin2x=(-1-V13)/3- He nogxoauT
sin2x=(-1+V13)/3
2x=arcsin(-1+V13)/3+2Pk
2x=P-arcsin(-1+V13)/3+2Pk
x=(arcsin(-1+V13)/3)/2+Pk
x=P/2-(arcsin(-1+V13)/3)/2+Pk

sin?5 x + cos?5 x = 1

sin?5 x + cos”5 x = sin®2 x + cos”2 x

sin®*5 x - sin*2 x =cos”2 x - cos”5 x

sin”2 x(sin*3 x - 1) =cos”2 x(1 - cos”3 x)

sin®2 x(sin x -1)( 1-cos”*2 x+sin x +1)=cos”2 x(1-cos x)(1+cosx+1-sin"2 x)
[1-cos”2 Xx](sin x -1)( 1-cos?2 x+sin x +1)=[1-sin*2 X](1-cos x)(1+cosx+1-sin"2 Xx)
1-cosx=0

cosx=1

x=2Pk

sinx-1=0

sinx=1

x=P/2+2Pk

(1+cosx)(sin?2 x+sinx+1)= -(1+sinx)(cos*2 x+cos x +1)

(1+cosx)(sin*2 x+sinx+1)+(1+sinx)(cos”2 x+cos x +1)=0
y(X)=sin?2 x+sinx+1 -- BCcerga nonoXxuTtesribHas

sinx=t

y(t)=tr2+t+1

D=1-4=-3

y(x)=cos”"2 x+cos x +1 --- Berga nonoxurensHada

(Sin?2 x+sinx+1)+ (cos”2 x+cos x +1)=0

OTtBeT: 2Pk, P/2+2Pk



